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SECTION-1

Directions for questions 1 to 5: Arrange sentences
A.B, C and D hetween sentences 1 and 6 to form a
Ibgical sequence.

Afrange sentences A, B, C and D hetween

sentences 1 and 6 to form alogical sequence.

1. Clues to the answer He at your feet,
scattered among the rubhle,

A, Mlostare onlya fewinches across,

B. The rock here iz a crumbling, easily-split

sandstone and in it lie thousand upon

thousands of coiled shells.

They are anrmonites.

Someare hig as cartwheel =,

Mo ammonite ig alive today but a hundred

million years ago, they flounshed in vast

munbers.

=00

a. ADCB
b, BADC
c. CBAD
d DCBa

Amange sentences A, B, T and I between

sentences 1 and 6to fonm alogical sequence.

1. A reptile becomes stuck in a swainp and
dies.

A, Over great penods of time, the peatds
compressed and turned to coal

B. Asthe centuries pass affdfnore Wegetation
acourmlates, the depost Wirnsdo peat

C. Clangesin sea level may cavee the swatnp

to be fooded @nd layers of sand to be

deposited omtop of thefeat.

Dead vegetationsdeifts to the bottom and

covers{hetn

'

§. Thereptile’s bones still remain within it.
a. DBECA
b BEDA
o WDBA
dNDABC

Arratge sentences A, B, C and D between

sentences 1 and 6 to form alogical sequence.

1. Woyager-1 was wery high in the eclipic
platie.

A They are trivnphs of hutren engineering
and one of the gloties of the Ametican
SPACE Prograrine.

B. In 1981,it had made a close pass by Titan,
the gant moon of Saturn

C. The two WVoyager robots have explored
four planets and neardly sty moons.

bad 03

D, Itz sister ship, Voyager, was patched on a
different trajectory, so she was able to
perform her celebrated explorations of
Uranusz and MNeptune.

6. They wall be in the history boole When
rmuch elzeabout our time is fdrgotien

a. CBDaA
h. DACHE
c. BDCA
d BCDA

Arrange sentences (A, B, O and D between

sentences 1 and 6 tofianmn alogical sequence.

1. Thete are, moreover, Unconscious aspects
of ougferceptiondef reality.

&, Within dhe fhind they become psychic
ETrEtits.

B. (The figst 15 the fact that even when our
senses react to real phenomena, dghts and
gounds, they are somehow trandated from
ilie realim of reality.

0 Mot to speaks of the fact that every concrete
object iz always unlmown in cerain
respects.

D Tiis  ewery experienice  contains  an
indefinite rnber of unknown fctors,

f. The reason iz, we canhot know the

ultirrate nature of ratter itself

CBDA

BADC

DRAC

. DABC

Atrange sentences A, B, C and D hetween

sentences 1 and 6 to fonm alogical sequence.

1. Theprocess continued for million of years.

& Tibet, hefore the colision of the
continents, had heen a well-watered plain
dlong the southem edge of Adia

B. Morhas this process stopped.

C. On the site of the ancient sea there fow
stood the highest and newest momntains in
the-wordd.

L. It was not only pushed wpwards tut
gradually deprived of its minfall by the
young mountains and so changed into the
high cold desert.

6. India iz still moving north at the mte of 5

centimetres a year, and each year the

rocky sumrmits of the Himalayas are a

mmillimetre higher,

CBAD

DCB A

BADC

ADCE
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Directions (). 6 to 10: Choose the alternative which
suggesis a coherent paragraph

.

Choose the alternative which suggests a

cohetert patagraph.

A The open road still softly calls, like a
tieatly forgotten song of childhood.

B. Ewen after 400 generations in willages and
cities, we haven't forgotten

C. The appeal has been meticuloudy crafted
by natural selectionas an essertial element
ity oy surwval,

D We irrrest far-off places with a cettain
TOInAance.

a. BCAD
h. OCAB
c. CBDA
d  ACDE

Choose the alternative which suggests a

coherent paragraph.

A, The remeining chapters were written by
wvarious authors to Jung’s direction.

B. The chapter that bears hiz rame iz his
work and nobody else’s,

. The final editing of the complete work
after Jung’s death has been done by Dr.
YVon Franz.

L. It was written, incidentally, in English

a. CBDA

h. ADBC

c. ACDE

d DCBA

Chooze the alternative which sudgests @
coherent paragraph.

A It iz beyond our powersete, predict the
future.

B, Your own life, o véur bahd s, o even
your species” might bedwed to a restless
fewr,

C. Long sumners,), mild winters, which
hatrvests, pletbifial game — none of them
lasts fordwer.

D Catastroplticwygserts have a way of
snakinoip on us, of catching us unaware.

a. A0 CE

b OB ChA

&, ACDE

d BDCA

Choose the alternative which suggests a
coherert patagraph.

A The gquintessence, for exatrple, a lizand is
oty fully understandable in the light of
the particular possibilities and litndtati ons
dictated by its reptilian nature.

B. The filins we made, thed to document the
lives of patticular anitnals showing how
each found its food, defended itself and
courted etc.

10.

T TR
C. We seldom examined the basic chamcter
ofits anatorrgy.

D One element, however, was trissing

a. ACBD

h. BADC

c. ADBC

d. CDABR

Choose the altemative which suggestz a
coherent patagraph.

&, Thesze researchers hawe hecotne =0
knowledgeable about their subjects)that
they hawe been guiding usgotthe tight
place at the fight time,

B. The great increase during the‘past decade
in the numrher off scientists® actively
inwalved in observinganmmals in the wild
15 very inportant.

C. They have guided us)to see exactly that
aspect of behaviouisdliat was of particular
interesttams.

D, Almagt every group of large animals is

naw heing studied by scientists.

EVEIVWIIETE,

BDAC

CEDA

DICE &

ACBD

£ oo W

Directions: In ). 11 io 15, four statement with
blank= have been given. These statements are
folleared by four alternatives. Choose the one which
fits into the set of statements the maxinm number
of times.

11.

12,

Four statemert with blanlks have been given.
These statemnents are  followed by four
altermatives. Choose the one wiich fits into the
set of staternents the masdrmum mmber of
tirnes.
&, Professioral studies have become the —
of the rich.
B. Ewery citizen has the to speal,
trawel and live as he pleases.
. He has a definite
rivals.
D Sheron no longer has the  of the
company’s bungalowand car
advantage
privilege
right
d. right concession
Four statement with blanles have been given
These staternents are  followed by four
altematives Chooze the one which fitz into the
set of staternents the masirmun mmunber of
titres.
&, People sensed
B. A bad case had come in — aperson witha
strashed arm.

ower all his

ooom




13.

14.

15,

And then, wathout warring, strack
The dogs were the first to recognise the
sings of oncotning

oo

a. tragedy
b, accident
c. disaster
d. calarmity

Four statement with Hanls hawe been given
These staternents are  followed by four
altematives. Choose the one which fits into the
set of staternents the frecdtoam tmber of
titnes.

A The men there have fought and
etnotional  withdrawal, and were  tote
capatle of helping Jim.

B. Bu does occasonally inflict all

the adults.
C. A person who is deeply bt feels wery

L. Itizhard to survive this feeling of
a. deection

b, lonely

o trouble

d. depression

Four statement wath tlanks hawe been given

These statementz are followed by four

altematives. Choose the one which fitz into the

set of statements the mesimum mamber of

titmes.

A, Thawe hada small power of

B. Down with a very hugh fever, he suffers
from frequents fits of

. They are now hitter enermies all
because ofa small

L. Her 12 the most creafise thing she

has ever possessed.

illudion

itnagination

hallucination

trd sunderstanding

Fl:uur staternent with Hanks hawve been given.

These stat@ments are followed by four

altermatives \Chooge the one which fits into the

set ofCataterdents the resdrm manber of

tirmes,

ANCotieruni st states that every individual
tiust Lve for the

B “The of the affairs of the ration is
deplorakle.

C. hawe been laid down by the
United States, states The Statestan.

L. Mo has succeeded in gaining

cotrplete  autonotny  fom the Fedesl

goverttnett.

state

tiation

govertnent

condition

o oo
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Direc tions () 16 to 18: from the given alernatives,
select the one in which the pairs of words have a
relationship similar to the one hetween the hold

words.

16.

18.

LYING : FERJJRY

a. staternent : testimorsy

b, sesing: ohserving

c. taldng: stealing

d. eating: dining
FEEHISTORIC : MEDIEVAL
a.  Alkbar: British

b. Present: Future

c. ohakespeare . Tennyson
d. Coloussus: Elephant
LOUD : STENTORIAN
rmild: noisy

painful ; prickdy
adjective . descripiise
bright sfEsplendent

s oo

Directions: .19 1623, four parts of a sentence have
been given. From the aliernatives, find the
combination), which best gives a meaningful
sentence.

19.

20.

21

Four parts of a sentence have been given
From the altematives, find the combination
which best gves a meaningful sentence.

A, there was the hope that in another
existence a greater happiness  would
reward one

B. previous existence, and the effort to do
better would be less difficudt too when

C. it would be less difficult to bear the evils

of one’s own life if

one could think that they were but the

necessaty outcome of one’s errorsina

CABD

BDCA

BADC

CDB A

Four patts of a sentence have been given.

From the altematives, find the combination

which best gves a mearingful sentence.

he can only renew hitn selfif his soul

he renews hirmselfand

the wrter can only be fertile if

15 constantly enniched by fresh experience

CBAD

CADE

BDCA

BACD

FEI'LlI' patts of a sentence have been given.

From the altematives, find the combination

which best gves a meaningful sentence.

A, but masterpiece is

B. untaught genius

=
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C. a lahorious career than as the luclky fluke
of
D more likely o0 come as the culminating

point of
a. CDAB
b ADLCHE
c. CDBA
d. ACDE

Four patts of a sentence hawe been given

Frotn the alterratives, find the commbination

which best gves a meaningful sertence.

A what interests youis the way in which you

hawve created the dllusion

they are angry with you, for it was

the public iz easly disillusioned and then

the illusion they lowed, they do not

understand that

ACBD

BDCA

CBDA

d BCAD

Four parts of a zentence have been given

From the alterratives, find the cormbination

which best gves a meaningful zertence.

A an  adequate physical and  sodal
infrastructure level

B. the pattem of spatial growth in these

towms as also to

the failure of the govermument to ensure

the roots of the riots arerelated to

ACBD

DBCA

ABDC

CBDA

o
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Directions () 24 to 30: Fill in the hlanks

24,

.

26

Ils. Sutcliffe’s helpfil notes onher Btest wine
discoweries and her no-nongensd wartings to

consners  about wines provide
gude to the numbering amay of
wines of Burgunds

a. excellerby,. auschial

b, overrated . aninadequate

c. owethaced . a tusty

d._aunsatistactory .. a spotty

We, wete armnared that a man who had been
heretofore the tmost of public
speakiers could, in a single speech, electrifiy an
audienceand bring them cheeting to their feet.

a. enthralling

b, accotrplizshed

o pedestian

d. auspicious

If wou are trying to malke a strong itrpression
ot your audience, you can not do so0 by being
understated, tentative, or

a. hypethaolic

b, restrained

C. argumentative

25

20

0.

& oad T3
d.  authontative
The neighhour grabbed the boy, and rolled

hitn ot the road to the flatnes.
a.  smother

b, kdll

c.  hurt out

d. fizz ot

marn asked me to keep this secret

a. sedret

b in nryself

C. amongstus
d. betweet us

sotnetitmes the greatest inventions an
idea of startling simplicity.

a.  shunmbles upon

b, hingeupon

c. starves without

d. lacks

Feal friends, genuinelsmianting the best for
the orgard zatian, different garhs.

3. Ccomein

b. dadin

c. (dreszedin

d. ‘Glathedin

Directions V31 to 40: from the aliernatives, choose
ihe ore which correcily classifies the four seniences
asa

F:

3l

3

Fact: If it relates to a known matter of direct
oheervation, or an exisiing reality or something
knowm to be true,

Judgment: If it iz an opinion or estinate or
anticipation of comumon sense or intention,
Inference: Ifit iz alogical conclusion or deduction
ahout something, bazed on the lnowledge of facts.

Frotn the altertmtives, choose the one which

correctly classifies the four sentences asa

A, If India has ermbarked on the liberalisation
route, she cannot afford to go back

B. Under these cdroumstances, being an
active supporter of WTO policies will bea
goodidea

C. The WTO iz a truly global organisation
airning at freer trade.

D Many mmember countries have already

drafted plans to sitrpli fy tanft structures.

FIFI

[FIF

LIFF

d IFF

Frotn the altertmtives, choose the one which

cotrectly classifies the four sentences aza

&, The Mindster definitely took the wrong

ooom

step.

B. Under the droumstances, he had trary
othet alterratives.

. The Prine MWinister is embarrassed due o
the Winister’ s decision.




L

35

36

D Ifhe has put the govemment in jeopandy,

the hWlirdster roast resign.
a. JFFI
b IFJI
c. FFII
d. IFU

Frotn the alterratives, choosze the one which

cotrectly classifies the four sentences aza

A The ideal solution will be to advettise
aggressively.

B. One brand iz alteady popular atmongst the
youth.

C. Feducing prices will mean trouble as our
reveres are already dwindling.

D The correct solution will be to consclidate

by aggressive marketing,

JFLI

FIII

LFF

. JIIF

From the alterratives, choose the one which

correctly clagsifies the four sentences asa

A If democracy 15 to surwive, the people
st develop a sense of consurmen sm

B. Consumeriam has helped improve the
quality of goods in certain countries.

. The protected enwironment in our country
15 helping local mamfachrers

L. The gquality of goods msuffers if the
marufacturers takle undue advantage of
this.

an om

a. LF]
b, JFII
c. 1IOF
d IFI

From the alterratives, choose the one which

cotrectly classifies the fouf sentehicesaz a

A, Unless the banlss agreedo a deferment of
the interest, we cannot“Shiw profits this
VEar.

B, This would fiet have happened had we
adopted@stricter credit scherme.

C. The rewenuesgo far cover only the cost
antl salaties.

D alet s Teatn a lesson we catnnot reke

profits) without complete control  owver

credit.

ILJF

LJF1

FIIF

. FIFI

Frotn the alterratives, choosze the one which

cotrectly classifies the four sentences aza

A Qualities cannot be injected into one's
petsoality.

B. They are completely dependent on the
genetic confiquration that one inhenits.

C. Hence changing our inherent traits is
impossible as the genes are unalterable,

w0 fogl

38

39

40.

iR

D The least one can dois to try and subdue

the “had gqualities™

FLII

JFFI

JFLJ

. JFI

Frotn the altertmtives, choose the one which

cotrectly classifies the four sentences aza

A, Everything iz purposeless.

B. Mothing before and after the emistence of
the universe iz known with cettaifity.

C. Wlan is a part of the putposel@s8 universe,
hefice man iz also purposel g8

D There 15 only one way.afadding purpose
to thiz universe: [Tniof witiiHim

oo

a. JFLI
b, FIII
c. JFFI
d. 1IF]

From the altésmatives, choose the one which

correctly Blazgifies the four sentences asa

&, Eseryday sodal Lfe iz inpossible withowt
interpersonal relationships,

B. The oot of many misunderstandings has
beenn cited in poor relations  among
tridividuals.

L Asquming the above to the true, sodal life
will be mmch better if people understand
the importance of good interpersonal
relations.

L. A study reveals that intermpersonal relations

and hence life in general can be improved

with a little effort on theart of individuals.

FILI

JFIF

FIFJ

. IFFI

Frotn the altertmtives, choose the one which

correctly classifies the four sentences asa

A, Theprices of electronic goods are falling,

B. ZSince we have substantial reductions in
itmport duties, thiz iz obwious

. The trend iz bound to continue in the near
future,

D But the tumovwer of the electronic industry
15 stll fsing, because consurmers are
increasing at a rapid rate.

=N =

a IFIF
h. FIII
c. FLF
d. JIFF

Frotn the altertmtives, choose the one which

cotrectly classifies the four sentences aza

A Inthe past, it appears, wealth distribution,
and not wealth creation has dotrinated
ecotornic policy.

B. Clearly, the govemment has not bothered
to eradicate poverty.




C. Today's libemlisation is far from the
hitherto Mehnrwian socialism

D, Eesilts are evident in the form of a hootn
in the mamifachiing sector output and
turnover of all industies.

FIIF

FIF]

LITF

JIFF

oo ow

Directions ()41 to 50: Each question contains six
statements follmsred by four sets of combinations of
three. Choose the set in which the combihations are
logically related.

41. Fach question contains &z statements
followed ty four sets of combinations of three,
Choose the set in which the combinations are
logically related.
A, All wegetarians eat meat.
B. All thoze who eat meat are not

vegetarians,

All thoze who eat meat are herbivorous.

All wegetarians are carnivorous,

All thoze who eat meat are camivorous.

W egetarians are herbivorous,

BCE

ABE

ACD

ACF

42, Each question contains  &x  statements
followed by four sets of combinations ofthiee.
Choose the set in which the combinationg atg
logically related.

. All rozes have thoms,

All rozes hawe nectar.

All plants with nectar fiave fhiorns

All shrubs have rozes.

All shnybs havenectar.

sorne roses have thorns,

BEF

BCF

BDE

ACE

43 Ean:h guestioh  contains sz statements
followedh iy four sets of combinations of three.
Ehoose the set in which the combinations are
logeally related.

) Mo spring is a season,

SOfre SEASONS are Springs.

SOHe SEASONS ArE ARG,

Mo seasons are auhinns,

sotne springs ate not auturms.

All springs are autumns.

DF&

BEF

CEB

DER

DS R SED G B =N = N e

oo e T Do

45,

46

47,

45,

dad TR
Fach question contains  &x statements
followeed by four sets of combirations of three.
Choose the set in which the combinations are
logically related.
. All faleons fiy high
All falcons ate blind.
All falcons ate birds.
All birds are yellow.
A1l birds are thirsty.
All falcons are yellow.
ABC
CDF
DEF
BCA
Ean:h question contaifis &%, satements
followed by four sets of codnhirafions of three.
Choose the set in wiuch the @@inbinations are
logically related.
Mo wires are hools!
Some 2fing are hoolcs
A1l springs are wires.
samme ook are not wires.
Mo hool 1273 spring.
Al wires are springs.
AFF
RBCT
BEF
ACE
Ean:h question contains &% statements
followeed by four sets of combimations of three,
Choose the set in which the combinations are
logically related.
Somme abra are dabra.
A1l abra are cabra.
A1l dabra are ahra.
All dabra are abra.
Some cabra are ghra
=ome cabra are dabra,
AEF
BCF
ABD
BCE
Fach gquestion contains sz statements
followeed by four sets of combirations of three.
Choose the set in which the combinations are
logically related.
. Mo plane iza chain.
All manes are chains.
Mo trane iza plane.
Dot maes are not planes.
ootne platies are manes
sotne chains are not planes.
ACD
ADF
ABC
CDF
Ean:h question contains  &x  statements
followed by four sets of combirations of three,

Ao oD HEOODE af Rp HED O T poSD HEDOE D
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49,

50,

Choose the set in which the combinations are
logcally related.

o Al dolls are nice,

Al toysaremice

All toys are dolls.

Dotne toys are rice.

sotne tice things are dolls.

Mo doll iz rice.

CDE

CEF

ACD

BEF

Fach question contatns &z statements
followed by four sets of combinations of thres.
Choose the set in which the combinations are
lugc:allg.r related.

some building are not sloy-scrapers.

some sk -scrapers are not buildings.

Mo stactureis a soy-scaper,

All sloy-scrapers are structures,

All doy-sorapers are buildings.

Some structures are not aldings,

ACE

BDF

CDE

ACF

Each question contains  &x  satements
followed by four sets of combinations of three,
Choose the set in which the combinations are
logically related.

All bins are buckets.

Mo bucket is a basket.

Ma bin isa basket.

Somne baskets are buckets.

Sotne bins are baskets.

Mo baslket isa hin.

BLE

ACH

CDF

ABF

Ao SR AEADODE RO SR EEDOE

mo SR TED QT

SECTION-2

Directions: (). &lyclioose the best alternative.

51

The, nusaber of votes not cast for the Praja
Farty, increazed by 22% in the Mational
Lrenetal Elections over those not cast forit in
the previous Assemnbly Polls, and the Pmja
Farty lost by a majonty twice as large as that
by which it had won the Assembly Polls, [fa
total 2,860,000 people woted each timne, how
trary  voted for the Praja Party in the
Azzernbly Elections?

a. 1,10,000

b 1,350,000

o 1,40,000

d. 1,20,000

Ted TR

Direcions: L 52 o 54 are based on the follaving
informmgion: Ghoshhabu is staying at Ghosh
Housing Society, Aghosh Colony, Dighoshpur,
Calcutta. In Ghosh Housing Society 6 persons read
daily Ganshaldt and 4 read Anand Bazar Patrika:
in his colony there is no person who readshoih. The
total numwber of persons who real these tbwo
newspapers in Aghosh Colony and Dighoshpur is
52 and 20 respectively. The mamber of persons
who read Ganashalkt in Aghosh Colony amd
Dighoshpur 33 and 121 respectively; while, the
persons who read Anand Bazar Patrika i Aghosh
Colony and Dighoshpurare32 and 11 Tirespeciively.

54

53

Mummbher of persons in Dighoshpor who read
otly Ganashaldi is:

a 121

b &3

c. 79

d 127

Mumber @f gérsons in Aghosh Colony who
read bath these newspapers is;

a (13

b 20

conld

d 14

Blutnber of persons in Aghosh Colony who
read only one newspaper 1s;

29

19

39

20

oo

Directions (Q. 55 to 62: Choose thehest aliernative.

55

56,

If lng?lugj(ﬁ+5x+\-";)=ﬂ; find the

wvalue of =

1

0

2

Mone of these

A right citeular cone, a right circular cylinder
and a hetrdsphere, all hawe the same radius,
and the heights of the cone and cylinder equal
their diarneters. Then their wvolumes are
propottional, respectively to:

a 131

b, 21:3

c. 321

d 123

Two towns A and B are 100 ko apart A
school 15 to be built for 100 studerts of Town
B and 30 students of Town A, Fxpenditure on
transport is Ks 120 per lon If the total
expenditure on transport by all 130 students is
to be az amall as possble, then the schod
should be built at:

a. 33 km fom Town &

oo




58

59,

fil.

al.

B2,

b 33 ke from towm B
c. Town A
d TownbB
One tran can do as much work in one day asa
wotran can do in 2 days A child does one-
third the work i a day as a woman Ifan
estate-owner hires 39 pairs of hands, men,
wotran and children it the ratio 6@ 5 :2 and
pays them in all Bs 1113 at the end of the
day’s worle What must the daily wages of a
child be, if the wages are propottional to the
arnount of worls done?
a. Rz l4
h. Rz 3
c. Ra 20
d ERs7
A right circular cone of height b iz cut by a
plane parallel to the basze and at a distance hi3
from the wertes, then the wolumes of the
resulting cone and frustum are in the ratio:
a 1l:3
h. &:19
.. 1:4
d 1:7
Ifa +b+c=10,wherea =t = c, then what is
the value of

a & ?

+ +

2 +be 2 vac 10 +ab
a. Zem
b1
oo -l
d. ahc
If the harmonic mean between témo pdsitive
tnbers is to their geometric mean as 1259903,
then the mambers could be in the ratig:
a. 1213
b 1121413
c. 4.9
d 23
If one oot of @2%pEs 12°= 01z 4, while the
equation e pxs =0 has equal roots, then
the value ofig 12
a. 4%
h. o440
C.

d.

4
\
4

Directions: Q. 63 amd 64 are hased on the following
information.

Ifmd(z) = f,

¥ = mimirmm of 2 and v, and

mafa, b, o) =mammum ofa, b, c

fi3.

The walue of mafa)(mdia), mmimdb), a),
trnfab, mdlfac)] wherea=-2b=-3, c=4 1=
a 2

b 6

B iR
c. 3§
d. -2
Given that a = b, then the relation ma[md(a),
trwa, b)) = mnfa, mdimala, b does not hald
if

a a<0h=0
b, a=0,h=10
cooarl b0, |al < b
d ax0, b0 |a = b

Direc tions for questions 65 to 73: Choose’ the)best
alternative,

fi5.

fifi.

fiE.

fil.

A water tanls has three tapggd, Bpand™C. A
fills fonr buckets in 24 ritn, BE@ls8 buckets
i1 1 hour and C fills 2 tckets ity 20 mimites.
If all the taps are opéned togetlier a full tanls is
emptied in 2 hours), If abucket can hold 5
litres of water, what“9efthie capacity of the
tanly

a.  120likres

b, 24dlitees

c. (1501itres

d. Gl litres

ohwarn went  from Delli to Simla wia
Chandigarh by car. The distance fram Delhi to
Chandigarh 1z 34 times the distance from
Chandigarh to Himla. The average speed from
Ll to Chandigarh was halfas much again as
that from Chandigarh to Simla. If the average
gpeed for the enfire journey was 49 lonph,
what was the average speed from Chandigarh
to Simla?

a  39.2kph

b, 63 kmph

c. 42kmph

d. Mone of these

The fourth termn of an arithmetic progression is
2. What 1z the sun of the first 7 terms of the
anthumetic progression?

a 7

b 64

co 56

d. cannot be determined

It takes a pendulum of a cdock 7 seconds to
srike 4 o'dlock How raoch time will it take to
strike 11 o’ clock?

a. 18 seconds

b 20 seconds

c. 1935 seconds

d. 23.33 seconds

Along a troad lie an odd munber of stones
placed at interrals of 10 m These stones have
to be assembled around the midde stone A
persofy can catry only one stone at a titne. A
traf carfied out the job statting with the stone
inn the middle, carrying stones in succession,
thereby covering a distance of 4.8 lan. Then
the mumher of stonesis:




35

15

29
d 31

0. What iz the smallest tnber, which when
increased by 515 cotrpletely divisible by &, 11
and 247
a. 264
b 250
co 260
d. Mone ofthese

7l A tran buys spirit at Ra 60 per litre, adds
water to it and then sells it at s 75 per litre.
What 15 the rmatio of spirit to waterif his profit
inthe deal 15 37 5%7
a 9:1
ho 101
.. 11:1
d. Mone ofthese

T Four friends start from four towns, which are
at the four comers of an imaginary rectangle.
They meet at a point which falls inside the
rectangde, after travelling distances ofd0), 50,
and 80 metrez. The masinmm distance that the
fourth could have travelled is (approzimately):
a. 67 metres
b, 51 metres
C. 21.5 metres
d. Cannot be determined

T3 Sand B walk from X to Y, a distance of27 ki
at 5 kmiph and 7 lomph respectively. B reaches
T and immediately tirns bacl meeting £ ah 7.
What 15 the distance fom X ta 27
a. 25lm
b, 215km
c. 24lm
d. 20lm

RN S

Direction: (. 74 to 76, reefer towthe following
information:

Alphonso, on hiz deathbedyleens half his propety for
his wife and dividedythe Sest equally among his three
sons Ben, Catl and Dave, Bomme years later Ben dies
leaving half WS propetty to his widow and half to his
brothers Catd andhDawetogether, shared equally. When
Catl makes =%l he keeps half hiz property for his
widowe and the rest he bequeaths to his younger brother
Dagze. WhettDave dies sorme years later, he keeps half
his prépetty for his widow and the remaining for his
tnother. The mother now has B 1,575 000,

4. What was the worth of the total propetty?
a. Fez 30lakh
b, Rs 8lakh
c. Kz 18lakh
d. Rz 241akh
75 What was Catl’s original share?
a. Fsz 4lakh
h. Rz 12lakh

Bhad TR
c. Bz fAlakh
d. Fsa 5lakh
76 What was the ratio of the property owned by
the wadows of the three sons, in the end?
a T:9:13
b B:10:15
c. 5:7:0
d 9012013

Direc tions: . 77 to 50, choose the best alternative:

Ti lugzlﬁ\-’g to thehase 6 is:
a 3
b, 342
c. 72
d. MNote of these

T8, Thereisleak in thelbottomef a tank. This lealk
can empty a full tanks in/é hows When the
tanlcis fisll, 3 tap is opened into the tanls which
adrmits 8 ditreg per Kour and the tank iz now
erptied i A% haurs. What iz the capacity of
the tarnky
a (283 litkes
by, Z6litses
g 144 litres
d. JCannot be deterrmined

7o Which is the least mumber that must bhe
subtracted fom 1856, so that the remmainder,
when divided by 7, 12, and 16, wll leave the
satne retnainder 4.

a 137

b, 1361

c. 140

d. 172

all. & dealer offers a cash discount of 2006 and
still makes a profit of 20%, when he further
allows 16, articles to a dozen to a particuwlatly
sticlyy bargainer. How rouch percent above the
cost price were iz wares listed?
a. 100%:
b, B0%
c. 75%

d. ﬁﬁz%
3

Directions: () 81 to 85, data is a provided follmved
by two staternents - 1 and II - hoth resulting in a
value, I and I1.

Matkaif[ = II

Mark bif [ < II

Matk cif [=1I

Ilark dif nothing can be satd.

al. Miteteen years fom now Jackson will be 3
titnes as old as Joseph is now Johtizon is three
years younger than Jackson,

1. Jolmson s age now,
2. Joseph’s age now.




8.

3.

85,

Iatk aif [ =11
Ilark bif T < 11
Ilatk cif [=1I
d. Matk difnothing can be said.

In AACD, AD = AC and 2T = 2 ZE The
distance betwesn the parallel ines AR and CD
ish ZCAE =150 and LDEA 30°. Then:

. .F. 3 .

RN S

e - ' B

Area of parallelogmm ABCD

Area of AADE.

Iatz aif [ = I

Iatd: bif I < 11

Iatk cif [=1I

d. Matk difnothing can be said

Last weelr DManoj teceived EFEs 10 in
cotntrission for selling 100 copies of a
tnagazine. Last weelk Watn sald 100 copies of
thiz rnagarine. He recetved his salaty offls 5 pr
weel: plus a comnission of 2 paise for each of
the first 25 copies sold, 3 paise for each of
nest 25 copies sold and 4 patse for each copy
thereafter,

1. Nlanof' s corrgrission in the last weels
Ilanw’s total income for last weel

Area of AADE.

Iatz aif [ = I

Iark bif I <11

Iatk cif [=1I

d. Mlatk difnothing can be s

ko, ko, ks are parallel linesgtl dom BE =5

R

oo L e

crnand CF : 32 cm

LY - T k,-
"-\ !

: *a

! ) \\ - Ik,
C j . \.\ r

(AR sz (EF)

(B E)

Apenof AADE,

LlakaifI =11

Ilark bif T =11

Dlatk cifI=11

Iark difnothing canbe said.

R e

1. The probability of encountening 54
cundays inaleap year.

2. The probability of encountenng 53

sundays ina non-leap year.

Iatk aif [ =11

Ilark bif T < 11

Iatk cif [=1I

Blatk difnothing can be said.

an oR

Hief I3
Directions: Choose the hest gption.

a6 The witming relay teatn in a high school sports
cotrpetition clockeed 4-5 timites for a distance
of 132 ko Its runners &4, B, © and D
traintained speeds of 15 lavph, 16 lamph, 17
ktrph and 18 lamph respectively. What is the
tatio of the tirne talken by B to that takeen by D7

a 5:1@
b, 517
c. 9
i

Directions: (). 8710 20: If f2{x) 2x 3 and oix) (x-
3)72, then

ar. Then fygiz) =
a 1
b gfiz)
Co (15 ARl 6z -2
d L=
88, For what walue of'z, 32 =g(=-3)
a (-3
b W
Con-d
d. Mane ofthese
20 Wikiat iz value of (gl (2 Ha gy
a
b ®
co (5e+3/(4u-1
do [+ 300+ )M E= -5 08 - 1]
on. What 1z the walue of fi (o) (=)
a
b
C 243
d (Z+3H Ex-5

Directions (). 71 to 100: Each ftem has a question
followed by twro staternents

Iark a, if the question can be answered with the help
of I alone.

Iark b, if the question can be answered with the help
of ITalone.

Ilark c, if the question can be answered only with the
help of both [ and 11

Ilark d, if the question cannot be answered even with
the help of both staterments.

01, Iz the distatce from the office to hotme less
than the distance from the cinemma hall to
hotne?

1. The titne taken to trawel from hotne to
office iz az rouch az the time taken from
hotne to the cinetra hail, hoth distances
being covered without stopping,

2. The road from the cinetra hall to hotne is
bad and speed reduces, as cotrpared to
that one the road from home to the office.
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3.

a. Matk a, if the question can bhe answered
with the help of T alone.

b, Martk b, if the question can be answered
with the help of Halone

c. Matk c, if the question can be answered
otly with the help ofboth Tand [T

d Matk d, if the guestion cannot be
answered evenn with the help of both
statemerds.

Aand B wotk at digginga ditch alternately for

a day each. If A can dig a ditch in 3" days and

B can dig it in “b7 days, will work get done

faster if & beging the work?

1. n iz a postive integer such that n(lfa +
=1

2 bra
Ilarle &, if the question can be answered
with the help of [ alone.

b, Dflade b, if the question can be answered
with the help of [T alone,

c. DNlade c, if the question can be answered
only with the help of both [ and 11

d. Nlak d, if the question cannot be
answered even with the help of both
statetnerds.

If twenty sweets are distributed among some

boys and gids such that each gid gets twmo

sweets and each boys gets three sweets, what

1z the number of boys and girls?

1. Themunber of giflz isnot more than five

2. If each gid gets 3 sweets and each boy
getz 1 sweets, the number of JSweets
required for the children will still befthe
SAITE,

a. Dflarde a, if the question canghe answered
with the help of I alone,

b, Martk b, if the questibn catl belanswered
with the help of 1T alone

c. Matk c, if the gquestioneafl be answered
orly with the help ofbeth [and II

d. Mak d, WSNthe, gquestion cannot be
answersdy, even with the help of both
statements.

If the Gelling price were to be increased by

1 0%, theysales would reduce by 10%. In what

ratln wauld profits change?

L., The cost price retrains constant.

2 The cost priceincreased by 10%.

g Matk a, if the question can bhe answered
with the help of T alone.

b, Matlk b, if the question can be answered
with the help of T alone

c. Matk c, if the question can be answered
otly with the help ofboth Tand [T

d Matk d, if the oquestion cannot be
answered evenn with the help of both
statetnerts.

m5.

9g.

HE.

Plaed D3

What is the average weight ofthe 3 new tearn

tetmbers who are recently included into the

team?

1. The average weight of the tearn ifcreases
by 20 kg

2 The 3 new men substitute 3 earlier
metnbers whose weighs are 64 kg, 75 kg,
and 66 kg,

a. Matk a, if the question can be answered
with the help of T alone.

b, Matk b, if the question can be @nseered
with the help of T alone.

c. Dlatk c, if the question cafy'be answered
only with the help of bothyl atidh]

d. Mlartke d, if the ouestion), cahnot be
answered even withothe help of baoth
staternents.

Iz segment PO greatér than) segment B37

1. FB »RE,BQ=E=S

2. Bizapdifgon PO, Eizapoint on B3

a. DNlardg a, f'the question can be answered
wath thehelp/of [ alone,

b, (Dlards b, 1T the question can be answered
wath the help of [T alone,

Ccoahlatk o, if the question can be answered
ofily with the help of both I and 11

d.hlardke d, if the oquestion cannot he
answered even with the help of both
statetnents.

Three hoys had a few Coffes Bite toffees with
them The murher of toffees wath the second
were four more than those with the first and
the mumher of toffees with the third were four
more than those wath the second. How many
toffees were there in all?

1. The marber of toffees with each of them
isa rltiple of 2.

2. The first boy ate up four toffess from wiat
he had and the second boy ate up ax
toffees fom what had and the third boy
gave them two toffees each fom what he
had, and the number of toffees remaining
with each of them formed a geometric
progression.

a. Matk a, if the question can be answered
with the help of Talone.

b, Matk b, if the question can be answered
with the help of T alone.

c. Mlatk c, if the question can be answered
orly with the help of both I and 11

d. Matke d, if the uestion cannot be
answeted even with the help of both
statements.

Little Beau Peep she lost her shesp, che

couldn’t retnetnber how tnany were there, She

ktiewr she would have 400 more tiest year, than
the number of sheep she had last year. How
mary sheep were there?




1. The number of sheep last year was 20%
tnore than the year before that and this
sitrple mte of increase continues to be the
samne for the neszt 10 years.

2. Theincrease iz corpounded antally.
Dlatk a, if the question can be answered
with the help of I alone.

b, Matlk b, if the question can be answered
with the help of T alone

c. Matk c, if the question can be answered
otly with the help ofboth Tand [T

d Matk d, if the guestion cannot be
answered even with the help of both
staternetts.

oa. What will be the total cost of creating a I-foaot
horder of tiles along the inside edges of a

room’?
1. The room iz 48 feet in length and 50 feet
in hreadth.

2. Ewery tile costz Rs 10,

Ilarke &, if the question can be answered
with the help of [ alone.

b, Dflak b, if the question can be answered
with the help of [T alone,

c. DNlade c, if the question can be answered
only with the help of both [ and 11

d. Nlak d, if the question cannot be
answered even with the help of both
statetnerds.

100, Ten boys to a neighbounng orchard. Fach boy
steals a few rmangoes, What is thetotal numbeg
of mangoes they steal?

1. The first boy steals 4 mangoes, the fatrth
boy steals 16 mangoes, the eight boy 32
mangoes and the tenth ey stealz"40
mAngoes.

2. The first boy stole the rofdmuin numnber
of mangoes and the tefith Yoy stole the
oAz marber of matigoes,

a. DMatk a, if the Question can be answered
with the help afl dlone.

b, Mark b@af the gquestion can be answered
with thehelpefll alone.

c.  Dlatec, 9f the question can be answered
arlyasithithe help ofboth Tand [T

d. OhIatls d, if the guestion cannot be
answered even with the help of both
sfatements.

SECTION-3

Directions (). 101 to 150: Read all passages
carefully amd choose your answer from the four
alternatives provided.

Directions: Real the passages carefully and mark
thehest choice as the answer.

bR

af T3
PASSAGE]

The trandlation in 1947 of Jean-Pawl Sartre’s lecture,
"Exstentialism iz a Hurmardam™ (1945, ensured that
the terrn eszistentialism would enter into the vocabulary
of American thought and culture. Existentialism is
notoriously difficult to define, especially sinee it
claitns a waried philosophical baclkground, drawing
from FRene Descattes, Soren Aabye HKietkegaard,
Friedrich Wilheltn Mietzsche, and Martin Heidegger.
Ioreower, as Gabriel Matcel and others annouticed, an
esistentialist could beliewe in God as mightilylas a
mattre etnbtaced atheism, Sartre’ s ewistentialism ifits
boldest outlines, catne to rest on the asséstion that man
15 free, and that in hawving the feedom to choose, man
encounters atsi ety and despair. Wiile exlsteriialismin
sartre’s hands often dwelled on the) absurd and
mobleratic nabwe of human existenge, the essential
conclusion that the existential perspective drew was
that our emstence is of ourtesn maeking, we are
responsible for o dates . This “dreadful freedoni” was
at once exhilarating and fightening

It his introdustiontio Sattre’ s lectore on esdstentialism,
translator Bemard Frechiman remarked that the
American vague for Sartre’s “philosophy, which had
begudin 1845 %Es . one of those curious phenomena
wiich gught "1f properly examined, dluminate some
peculiatifies of culture in America”™ Alas, Frechtman
failed to develop this insight, although he dd muggest
that the popular press in Amerca had focuszed too
mch on Bartre’ s personality and too little on his ideas.
Framiration of the initial dissemination of French
extistentialism i American popular culture reweals a
munber of intertwined themes First, moch of the
American fscination with French existentialiam was
rooted in what French sociologist Fierre Bourdieu calls
“coltaral capital” the power of certain culturl
representations to comumand prestige and  respect.
Thus, from the statt, fashion and idea coexisted to
define the dissemniration of French esstentialiam in
Arerica. Second, American coverage of French
existentialists such as Sartric, Simone de B eagwoir, and
Albert Camus exemplified what historian Dariel
Boorstin calls the predominance of the celebrity in
tnodern American culture. The popular reception of
existentialismm in Amerca was as much about the
tnage of the intellectual as the content of exdstentialist
ideas. Third, Bartre and other existentialists were
pottrayed in Arnerican popular culture as exemplary of
“an erratic left-banlk bohermanism™ an image that fit
pootly with post-war celebrations of the Amencan
intellectual as a sober minded, optitodstic, and
tespectable  citizen. By popuatisng French
esistentialists as celebnties and assocdating  their
pessitnistic philosophy with the trauma France had
esperienced in Wold War II, the popular press
undermined  their reception by the Amencan
intellectual cotrrnutity. Ilany considered
exdstentialism a passing wogue, not centrally applicable
to the life of the mind in America. Thas, the cultueal




politics for the dissernination of exstentialism in
Arnerica becamne complex. marked by tensions in
control of the cultural capital associated wath French
culture and the image of the intellechial It was neatly
20 wears hefore existentialistn was accepted as a watle
philosophy  relevant to  the mmodern  Ametican
ittellectual cotrtnunity.

Arnericans in the 1940: highly walued French ideas,
att, and fashion, less for any essential quality than for
the prestige that came wath their French label These
petceptions wete satinsed in two cartoons that fan in
the late 1940z in the Mew Votker, which apotheosized
a cettain popular, middlebrow style in America. Inone
cattoony, a tather dishewelled street vendor selling ties
at 25 cents each looks askance at his well-dressed
corpetitor who 15 able to sell the same items,
elegartly called crawats, at one dollar apiece. Another
cattoon shows a doughty group of women, one of
whom  exclaims: I kmow what! Let’s play Old-
Fashioned before we start talling French™ The allure
of France, of things French in American culture, must
not be underestimated as a contiming theme in
accounts of the popudarty of esistentialism and of
existential @ thinkers, and  esistential  thinkers
consciously played on thiz fascination,

Before the Second World War in Furope had ended,
before the atomic bomb had forever scamed the
physical and mental landscape of modem men and
wornen, the existential fimre and ideas of Jean-Pal
sartre had alighted on Amencan shores Sartre wag
determined to become an influential figwre in both
Furope and the TUnited States. In “Pariz Alige”
trandated by Lincoln Kirstein, Sartre introdiced
himeelf to Americans. In a note to thel es=say, the
editors of the magamine chamcterzed Sarire,
incorrectly, as “one of the military leaders™ of the
French resistance during the war (Althotgh Sartre did
tint refer to himself as a leader, hefumiversalised hiz
dizcussion of the psychological imipatt of Germran
occupation upon the Frenchoby pronouncing, “MNewer
were we freer than unden fhe Gemman occupation”
With this strange, afiparently contradictory ohservation
about  the natwreof Mtgedom, Sartre hegan to
comrnurd cate CElistenitialist  ideas—wathout naming
themn forrpally—to W2 Amencan audience In the
eszay, Sartke also)touched upon themes that would
later BEgomie assocated with the essentials of an
existentiali st perspective:  authenticity, choice, the
presefiee of death, loneliness, responsibility, and the
notion that “in ks feedorm in choosing himself, he
[tran] chose the freedom ofall”™

Major introductions to esistentialism appeated in
Arnerican magarines betwesn 1945 and 1945 The
dizzetnination of existentialist ideas and persoralities
i the popular press was tmore than a story being
tatrated vpon the inett intellectual bodies of Sattre,
Beauwoit, Catris, and esmistentialism. &8s Anna
Boschetti has noted, Sartre and his followers had
carefilly orchestrated their reception in order to
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captire the French intellectual field, thus assuring,
albeit brefly, tlat existentialism would dotninate
dartre and Beauvoir attermpted to nfluence the
reception of their philosophical perspective on the
American intellectual field az well.

101, Why does the author say that the term
“Existentialism”™ iz nototiously diffiedt to
define?

it has a vaned background

an existentialist helieves in God

it drawes from many thinloers

landl

landl

1,2and 3

. Only 2

102, Which ofthe following staterient is true?

An exstentialist believes in Gad

Exmstentialism origimated in France
c. Emcteplislists were against feedom as

they thought it was *dreadful’

d. Emstenfializm was not accepted by the
AIMEr catls

103, _TheGmain jpoint that the awthor makes in the
third paragraph is that:

a. [France was the cultural capital of the
world

b. the emistentialists were considered as
“etratic, left- hank bohemiang”.

c. the portrayal in the media of existentialism
created i sunderstandings ahout
intellectuals

d. Emstenbialiam wmas not accepted asz a
philozophy for 20 years

104, What word would best replace the word
“apotheosise” as used in the passage?

a.  hypothesised

e e =l

=

b, created
c.  encouraged
d. glonfy

105, It cantbe concluded fom the passage that
a. the philosophers held the American press
in disdain
b, the philosophers did not bother about what
was written about thetn in the press
c. the philosophers were satirized in cartoons
d. the philosophers used the press to promote
them selwes
106, What would be the best meaning of the line,
"Mewer were we feer than under the Getrnan

occupation.”
a. the French were fee during the Getrnan
occupation

b, the French were not fee duting the
Gertran occupation

c. the French were responsible for their own
fates

d. difficultto say




107, What iz the hest definition of existentialism,
ttat can be inferred from the passage?
a. tmat is what he makes hirmself and 1z also
responsible for what he malkes of hirnself
. toesmistiztobe
c. toan iz free but the feedom to choose
causes him arsdety
d. difficultto say
105 Which of the fallowingis not mentioned in the
passage!
a.  Albert Catnus
b Wilhelmn Mietzache
c. Bemard Frechiman
d. FeneCaszn
109, What would the best title for the passage?
a. E=mstentialism
b, The Impact of Existentialism on American
Culture
c. TheFrench existentialist philosophers
d. How the Press Created Existentialiam

PASSAGE 2

“Ian emrs, till he has ceazed to stive” S0 sighs the
figure of God in the prologue to Goethe's great
poetical drama, “Faust” Driven by hiz boundless
dedre for knowledge, the play's ermng hero strives
mmightily throughout to discover “what holds the world
together in its immermost self™ Generations of directors
and theatregoers hawve asled themselves much the
same question when struggling to congprehend thig
theatrical Everest.

For Peter Stein, one of Gernmany most celgbrbed
directors, staging all 12,111 lines of the “world pegm”
Goethe spent neardy 60 years writing has been hizlife
long dreamn Itz reputation for being an-perfornehle
began with the writer himsslf Goethe | descibed
“Faust” to hiz friend and fellow dramatist) Friedich
mchiller az a “poetic monstroaty™ldargely because of
its unigque, uncategonsable, secondpaft, no modern
director has ever staged it atlene g and in its entirety,
But though he had to“wait untl his 60s, Mr Stein
never abandoned Ms ooal His production at once
becatne the talk of Gennany,

"y fool canstage part one of “Faust”™, said W Stein
modestly. dund whileleven he would agree that not
every fooljcantstage part one well, its themes and
storied S Brmliar enough. Conceived in the 1 7703,
when Goethie was in the flush of Sturm and Drang
romatitielan, part one burstz with ideas and with
yothfil exuberance. [t is also dramatically original
and paychologically brilliant.

Mephistopheles appears to a disillusioned Faust and
offers to be his servart, revealing to him all “earthly”
lmowledge The catch is that, in the nest wotld, they
will swatch roles. Faust tales the offer Yet he iz
tngry also for power and pleasure. “Two souls do
dwell, alas, within rmy breast!™ he says. He etrs badly,
and philosophical drama becomes human tragedy.
Faust seduces Gretchen, an innocent gifd, who is
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exzecuted for ldlling their illegitirate child. Faust also
causes the death of her mother and brother
Vet the cause of all this suffering himself survives for
patt  two—Goethe needed no lesson  from
Hollywood—and it is here that the diffieulties begin
Iost directors, sitnply give up before the challenge of
the second part, and it is not hard to see why. [tz mnge
of subject ratter, its rristure of genres and its warieties
of tone make it a challenge to read, let alone to pull
together itto a coherent piece of theatre It took DAt
atein decades to understand, though now, he sags, he
teads it “like a newspapet™.

Ilaybe g0, but Bild Zettung it 15 not. There i3 wigually
no storyline, no unity of time or plage andyno lifmt to
the spiritual and intellectual congndrurms with which
Goethe's  lusmnant  imagimatioh  confronts  his
wandering heir. The poet Here surms™ip his personal
religion, depicting a comples, imgperfect deity that is
mmorous, cynical and land “&bdhe same time, part
two 1z worl dly ande@inic, bringing in Goethe’ s leamed
soientific interedls &2 Swell az hiz wide-ranging
hiztorical andeesongimic apinions. Topics include paper
currency, attificial life, MNorse and classical myth as
well az the restless/quest for techrical progress.
Chatgapark fromm what it &l means, there are several
mractical factethat until now hawe kalled any attempt at
fwofessional staging The fill play lasts 21 hours,
rielading brealcs. Counting stage time alone, it nans for
b5 hours. (A comparable towr-de-force 1z Richard
Wagner' s four-opera “Fing” cydle, which nns from
14 to 17 hours), At Hanover, audiences have a choice
of a two-day “Faust” mamthon at weeltends or six
sessions on consecutive mights The play alzo needs a
tmge perfonmance space and a comuitted group of
actors. WWlr Stein’s 35 actors have signed on to his
“Faust” project for the duration.

Az ouide ropes in scaling this peak, It Stein chose to
stick to the text and to follow Goethe's own stage
directions. This refusal to irpose an interpretation of
iz own provoked the critics, but made theatnical
sense, When Mephistopheles first appears to Faust, he
15 disguized as a black poodle, and a real black dog
trots on stage, wapgging his tail in a deceptively
undesrilish way. In part two, as Faust spealzs the lines,
“I watch a mirror here of man’s whole story™, Goethe
called for a rainbow, and Wiy Stein’s designer artfully
ohliges.

The productionis a feast for the eye, even if Ferdinand
Wogerbauer™s part one set, as some have complained,
15 too safely conwentional. The booklined study at the
heginning in which Faust glurdly ponders bis ife is it
by a singde gothic window When Faust and
Iephistopheles enter the witch’s litchen, sheiza thily
ugly Halloween witch. Stefan Wayers design for the
second patt iz, suitably enough, more abstract and does
not follow to the last detail Goethe’s instractions for
leafiy growves and rocky caverns.

For theatregoers, it is all an exhilamting experience
and not as wearing as it sounds. Wr Stein has used two




stages in a large hall in Hanowetr's Expo zoo
corrpoutd. The audience moves fom stage to stage
after sach interal. A nice air of theatncal comrmnism
prevails. In the masked camival and in the imperal
bangquet scenes, the audience becommes patt ofthe play.
After watching it over two days, this reviewer at least
felt azifthe actors had becorne old fhHends

Ilost of them performed at a high lewel throughout, an
astonishing display of expressive talent and starnina.
Iir Steinn split the roles of Faust and Mephistopheles in
twn, Bruno Gane and Christian Mickel were to share
playing Faust. But Mr Ganz, one of the finest Gertnan-
spealang actors, bt himselfin reheatrsal. For now, the
relatively unlmowm Wl Mickel st handle the entire
tole. Given that he is on stage for six of the play’s 15
hours, he can pethaps be forgiven for a somewtat
uneven performance.  The two  actors  playing
Mlephistopheles have a differert problem. One is
brilliant, fiunrmy and cynical the other is graver and
more eamest. Dorothee Hatinger as Gretchen iz alittle
too sparkly and chanming for the plain girl she iz
supposed to play.

110, Which ofthe following statemerts is not true?
a. Goethe spent almost 60 years in wiiting

“Fausf”
b, Faust agrees to trade souls  wath
Ilephistopheles in the nest hirth

c. Faustizanepicpoem
d. Faust iz a true story of a German doctor
111, What would be the best meaning for the line,
*Two souls do dwell, alas, within noy beea g™
a. Faust had two souls
. Faust was confiized and thuesemed bady
c. Faust +was caught up, betwesn two
conflicting desires
d.  Ewery man has two natwes, ofie for earthly
knowledge ands the otherefor power and
pleasure
112, Why iz it conddered difficut to stage the
second pat@f Faust?
[ it has addetange of subject matter
II. it i@ Agristure of genres -
[Tlait is) difficult iz difficult to read and
uriderstand
Qrly [ and I
Qaly [T and 111
Crly I and 111
I, Tand III
113 What would be the best tmeaning of lour de
force” mentioned in the passage?
a. alongtourlasting 14-17 hours
b a forceful display ofideas
c. a feat of strength or dall
d. aplayhavinga forcefil impact
114, Which of the following statemerts are true?
a. Dleplistopheles iz a black poode in the

play
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b, Mr Stein did not follow the insttuctions of
Goethe
c. The sets for the two parts are designed by
different designers
d. none of the ahovwe
115, Why did it rake theatrical sensze to follow
Goethe’s our stage dissections?
a. it would keep the play authentic
b, it would help in kesping wath what Goethe
orignally meati
c.  itwould not have provoked the cofftics
d. it waszwhat M Stein wanted t6°da
116, Which ofthe following are NOT defectaof the
play,asmentioned in the passage?
I Gretchen in too spatdsy and charring
II. the audience becomnespart afthe play
IIL the role of IWeglistophel@@has been split

in twao.
a Onlyl
b, Only I
c. [&II
d. Lglhand II1

117 What doesthe authar want to emphasize when
he saws that an air of “theatnical cormmon sm™
prewan 2y
a. |the audience and the actors become as one
b #thereiz much confusion in the play
c. the workers and the viewers are treated as

one
d. thereisno difference among the actors and
the audience

118, The passage could best be descnbed as
a.  An excerpt from aliterary magazine
b, A review of Faust
C. An attengpt to explain Faust
d. Praise the director who has atternpted the

impossible

PASSAGE-3

The wodd rencwmed management guru and the
originator of the concept of core corpetence, CK.
Prahalad, explains that the concept was born when the
tranagement world was flooded wath improvement
ideas arising from the TOW genre and Eeengineering.
What Prahalad and Gary Hamel argue iz that wiile
these tmeasures tmay lead to belter or improved
tratagernent, the gquest for commpetitiveness has to
primatily come fom different strategies to be pursued.
They call thiz the strategic intent How are these
strategies to be formed?

A distinction bas to be drawn between products and
cotrpetencies. While a product iz the resultant of
vatious inputs that are organised in an efficent
trattier, cotnpetencies are grown from withine They
catinot he just organdsed but will have to be built owver
a petiod of time While products prirrarily require
facilities, competencies are a commbination of people
with the requisite lmow-how acquisition.  Thus,
competitiveness born out of product supenority can




gadly be eroded when competitors irprove ther
products. On the other hand, cotmpetitiveness born out
of ingrained competencies can stay longer.

The picture before the after the Second Wold War is
proof of the abowe concept. Even though the physical
facilities were all  devastated, because of hasic
cotrpetencies, the people of Gertrany and Japan could
rehuild the econotoy in fo ime The wheel has come a
fiall circle by the end of the century when they are on
the top againl During the 80z, Canon and Honda gresw
enotrnoudy corrpared to Xerox and Chryder. Through
the adoption of the improvermett method corpetitors
gquickly reach compatable standards What then can
gtill provide the competitive edge? This iz where the
advantage iz to be generated through management’s
ahility to consolidate technologies and production
galls into competencies that enable individual
tsinesses to seize quickly the changing opporturnities,
Core competencies, according to Prahiad, are the
collective learning in the orgamsation, especially how
to co-ordinate diverse production sldlls and integrate
multiple streams of technologies.

Oftenn, there is difficulty in identifying what iz a
cormpaty’ s core competence. Of course, what it 12 not
can perhaps be more easily perceived. It is not merely
vertically integrating the business, thereby malang
everything under one roof It iz not merely using
cormon plant or services facility or sales force,

Hamel and Prahalad suggest 3 tests. (1) Core
competence provides potential access toa wide variety
of markets, (23 it should make a sgnificard
contribution to the perceived customer benefitad@fithe
end product and (3) it shoud be difficults Ton
competitors to indtate. It has been estimated that fewr
cormpanies can build world leadershipangmore than 5
or 6 fundamental competencies. In the Indian scene, it
is easy to see that companies likeSundatani Fasteners,
Feliance and Baja) Auto which ‘have figured in the
Asia’s top 20 compardes list have dhdeed balt their
fortunes based on their core competencies. Bt the
pictureis not all that dearSsthiregand to other,

[s it the reazon whydhey are not competitive globally?
The answer iz notiall that) sasy. A cticdanm that is
leselled iz thaf the Indian business houses are far too
diversfiedand fot fcused. The counter-point to. the
Prahaladiat) dogkihe bas come from Prof Palepu of
the Hagrard Business School who says  that
dispersi figatitinis not strategically incotrect in this et
of corseinpetence. He argues that core corrpetence is
a Westerm concept and that Asia’s large business
groups can mrture non-cotwentional competencies He
says that diversification in a group can he combined
with focus it a company. His main contention 15 that
any organisation iz a function of the rrarlets around it.
mince matloetz always don’t wotk in deweloping
econotries like in the Western world, itstitutional
tmechanisms do not exist on their own and this is
precisely provided by large, diversified business
groups. The five institutional elements identified are
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(Th the market in which a company sellsits goods and
serwices to its consumners, (2) the matlet in which it
gets talent into its companies, (3) the market where it
rizes its financial resources, (4) the market for
cottracts ot the legal system which binds contracts or
the legal systetn which binds contracts and (5 the
degree of govemment interwvention. According to
Palepu, the big business groups actally create these
istitutions as their core cotnpetencies.
IMore often these are intangitle and ate expensive to
tiild and can only be atternpted by larged huginess
houses. Howewer, he also mentions that thisikstitution
tmilding will take at least 2 or 3 decades aftetywhich
the core competency concept magy, betome tnore
applicahle.
When we consider the abowve coneept, it fits in very
well with the present dayineed ofSthe tremendous
infrastructure problems which the government by itgelf
1g just wmatble to cope with. Thewdea of large business
houses  entening 4fitny, thiz, infrastruchwe area is
considered to be(a nefessary one, though it may nn
corpletely contrary Lo theidea of core competencies.
It would appear that it 15 not all that easy for Indian
comparies €0, merely follow the concept of core
competence, A new fomula has to be hammered into
shape a8 to What core conpetencies to idertify and
dewelopoand what institutional mechaniams are to be
evglved. Thiz will indeed be the turning point. Some
gzarmples do egist in this contest from the Asian
Tigers, who have not been studied in as great a depth
az Westem comporations. We are indeed at cross roads
and the turning may well bea truly Indian solhution to
rrrriad Indian problems.

119, What iz strategic intent, according to the
passage?
a. TOW getre was resporsible for the bith
of the concept of core competence
b, The measures may lead to better or
improved rranagemnent
c. Different strategies have to be fullowed to
reach the quest for cotnpetitiveness
d. Re-engineering iz also the reason for the
concept of core cormpetence
120, What, accerding to the passage, is the
difference between product and competencies?
a.  products are technologcal bt
competencies depends on people
b, competencies have to be chaped and
developed but products bave to be trade
c. products are efficient use of resources, it
commpetenicies are human resources and
lehow howr
d. products and cotrpetences are the same,
otly the approach 12 different
121, Whatis the centtal idea of the passage?
a. An egplamation of core competence




122,

123,

124,

125,

126,

b, Coping  with  complex  managerial
challenges

c. How to apply core competence to Indan
industry

d. Trends inmodern managetnent thoughi

The proof of cote competenice after the Second

Wotld War iz that

a. the Gettnans and the Japanese rebuilt their

econotny though the physical facilities
were all destroyed and they are on the top
again

Canon and Honda grew  enormnously
cotnpared to Xeroxz and Chrysler

tnany Japanese companies becamne world
leaders

technologies were consolidated  into
competencies to take adwantage of
changing opportunities

Which of the following are the evaluation tests
for core competence?

L

II.

III.
L.

a.
h.
C
d

opening up of access to a wide varety of
tmarleets

signficant comtribution to
benefitz of the end product
difficulty in being irmitated
that no company is able to buld global
leadership in more than 5 or & fundamental
competencies

I, Tand III

[Tand III

[Tand IV

I, Tand III

custotmer

What 15 thetitle for the passage?

a.
h.

C.

d.

Prahlad and Gary Hamel” s Mew Creed
Identifying  and  deweleping  Core
cotmpetencies

Infrastructure Dewelfpment and  Core
Competence

The Prahala dian doctnne

Falepu of Hatvard Business School.

a.

h.

C.

d.

agrees  with, the
cotnp elence

does not agfesywith the concept of core
cofnpetence

ig indifferent to the concept of core
COfTpEtenCe

difficult to say

concept  of  core

TheWnstitutional elements according to Prof
Falepu are

L
II.

I

=29

o0 oW

L
. tnatket for contracts and legal systemn and

selling and service market
tnatleet  for  spotting  talent
COtapat es

financial resource marlket

for their

the degres of govertment intervertion
Tand II

[Tand III

[Tand IV

I, Tand III
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PASSAGE 4

While seweral discoveries in science ever since people
started engaging in organised research actiwity hawve
led to a better Lfe for the average lnnan being, it
catinot he grinsaid that some have been used to cause
untold rrisery to wast sections. The developtents in
seience and technology have proved to be a mized
Hessing-tatvellous medical discoveries like penicillin
and antibictics have cured diseases whereas the
fabrication of the atom homb has tesulted in wiping
out ertite towns and populations. It all goed totshow
that science is a double-edged weapon heEanse it can
he used baoth for good and el purposeshHeretticomes
the crucial question of ethics. Is itnet pagsble for a
scientist to say “no” when asked o talten wpresearch
that tnay one day lead to destruction? This poser has
heen troubling the participafits m resedich activity for
decades. Moelle tenoir, Wwho has serwed as oa
chairperson on the InternationalePrioethics Comurittee
of UNESCO andesiey now, heading the European
Comrmission’s Geoug’ of Adwizers on the Ethical
Irmplication _gay Biotechiiology, has done well to
highlight seéweral related issues in the World Science
Feport,
Whilé bifter disputes followed the dropping of the
atar bamb 2 o%er the two Japanese cities of Hiroshima
and Magasald in 1945, there was no organised reaction
as@ch. Bt the developrments in biology like genetic
enaneering, which iz nothing but a process of
modi fring living organisms, led to an ethics movement
even three decades ago Significantly enough, a
conference of geneticists meeting at Azlomar in the
115, declared a momtorium on research for one year,
moviding a pavse for understanding the posahble risls
to huwmnan health and the enwvironment as a result of
using genetically-modified organiams. Duting the [
D60z, ethics panels were setup in several courtries bt
France was the first countrv to establish a national
consultative comnuttee for ethics in the life and health
sciences. A survey rmade three wyears ago by the
UNESCO Bioethics Unit pointed to the fanctioning of
tnore than 200 national ethics corrmittees all over the
world. It iz interesting to learn that there iz now a
dizcemible movernent from ethics to law with the aim
of protecting human rights faced with the challenge of
science and technology. Again, it 15 worth noting that
the Ubter patliatnentary Urion placed the issue of the
links between bHoethics and hurman rghts on its
agenda. Eszentially, the objective of these efforts is o
affinn that the hutnan being is not a mere object for
SCiEfICE.

127, Why are developtments in science a douhble-

edged weapon?
a. they have resuted in both hanmless and
hatrnfial things

b. they hawe heen heneficial and destrictive
c. they hawve developed wathmat ethics
d. none of the above




125, Why did the scientists declare a moratorium
on research for one year?
[ to study the risks to hurman health

Ii. to shudy the risks to ersrrontnent
III. to debate ahout ethical izsues

a land Il
b Tand III
c. ITandIII
d. I, Tand III
129, Based on the showe passage, we can say that
the author feel s that:
a. scientists should refuse to do research on
destructive things
b. ethics committees should be established
c.  human beings are not objects for science
d. Mone ofthe above.

130, The article ismost probably written by a:
a. scientist
b, social activist
C. Newspaper reporter
d. rcamot sy
131, The tone of thearticleis

a. analytical
b critical

c.  desciptive
d. judgmental

132, Why was there no organized reaction to the
miclear thombs  dropped on Hiroshima,
according to the writer?

a. people did not feel strongly against them

h. there were 0o ethics comuttess
established at that time

c.  the world was too shocked to respand

d. none of'the above

133, Which ofthe following statementsis not trine?

a. there are more than 200 national ethics
cormrnittess all over the world

b, scientistz have declared al declared =
moratorium on pessarch fmdte vear

c. bitter disputes followed the dropping of
the atom hogokg

d. there iz@goovement for protecting hurmnan
rights

134, What i§the best title of the passage?

a. aEthigs and scientific research

b OHuthat beings and scientific research
B, mcience is a double-edged weapon

i “Frotection of human rights

PASSAGE 5
Ot oa personal lesel, winning doesn’t mean the other
guy hasto lose As former P&G brand marager Bruce
Dliller put i, “It' s fot & zZero-sun game. It's more like
golf that tereds, you are playing against yourself and
the course, not the guy across the net or in the nest
office. Flay your best game and, if' it’s good enough,
you'll bea winner ¥ou might not achieve the specific
goal you have set, but the comparny is kg enmigh and

e
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flestble enough to move you up and onward in a way
that suits your talents. That™s winting ™
Willer remmemhers the story of an assistant hrand
tratager who, by his owm account, was achieving great
things and looked as if he had the world by the tail,
“At ghout the titne hiz “clasd” was ready to go out on
sales tratning, he had a dosed- doot meeting with his
hoss His peers assutned hewas the first to get the nod.
It turned out his performance had all along been tmote
flash that substance, and the meeting with his boss
was to discuss other career alterratives dtiside or
outside the cotmpany. Dlller iz convinged ) that the
tnoral of the story 18 that winningis all dbout yaur own
petformance and not ghot keepingap with what the
other quy seetns to be doing,

Fortner CEOQ ED Artzt  equates winning  with
mrofessionaliam: [t's mastery of the fdamentals. And
that”s what wou must do toUain in management. You
must master the fundamentalsfafthe busness you're
i, the functionz gioty perform, and the procesz of
managing peoplen I wou don’t do that, you'l
evertually heemme & {0WIEy man or jOurney Wornar,
and the brilliance you once had will surely tamish.
Iflastering the fundamentals of any profession, beitin
the afts, sports,"0r business, requires great sacrifice,
end ezedrepetifion, and a constant search for the best
ey todadhing:z. A professional in search of mastery
hrifigs an attitude to iz or her worls that no sacrifice is
too great and no experience or grut worl is too
metial ifit helps achieve mastery of the fiindamental s,
It all hegins with attitude, stnving to  attain
mrofessionalian and embrmcng winming as a way of
life. if you want to become a winning ranager, [ wge
you to emnbrace that attitude with all your might.

135, What does Miller mean when he says that
wititingis not a Zero sum gatne?
a. it does not mean that the other guy tas to
loge
b, youare playing against yourself
c. it'stmorelile golfthan tennis
d. the company iz bg enough to mowve you

up
136, By “more flash than substance” the author
LrIEarns;
a. the achievement was tetnporary, not
lasting
h. the achievement was more a matter of
chance

c. the manager was fooling hirmself
d. none of the abowve
137, A joumeytnat of {0OUrHEY Wornan:
L isnotarraster of fondarnentals
II. isjust passing titne
IIL is not brilliant
a landll
b, I, Tand II
c. [landIII




d. IlandIII
135, The author feels that:
a. tastening fundamertals 1z essential to win
b, mastening  fundarmentals requites  great
sactifice
C. wintingis not a Zero sun gatne
d. none ofthe ghove
139, The best title for the passage could be:
a. Winning
b, Winning and Frofessionalistn
o Gettinga Winnet' s Attitude
d. Mastering Fundarmentals is Important
140, The authoris most likely to he a:
tmanagemnent consultant
newspaper reporter
writer of selfhelp boaoks
career coungellor

20 o®

PASSAGE 6
Hunger iz about people. [tizalzogbout oppressionand
inequalities. Hunger iz ghout comupt politicians and
comupt bureaucracy;, it is also about power and
powerlessness. Hunger iz about bomowed ideaz of
soience and technology and development which have
oot worked in local realities, it is also about the
disintegration of local comrurities; about loss of
values, traditions, culbure and spirituality. Ending
mnger iz the important wnfinished agenda of this
centiry and of independent India.
The world as a whole has achieved drarratic increasé
in food production, enough to cover the monimoam
needs of the global population Yet hungerand
malnutition persist in alarming measure in ndiadand
other third World countries. The Woild Barnlds
estimates are that over a hillion peopleyn the world
tave problemns of food securty  The Eood and
Agricultural Organisation (FAC estimates point ot
that 84 developing countries out afd17 @l be wnatle
to feed their population adequately ahdthat 38 out of
these deweloping countries Wl he able to feed less
than half o fiheir populations adequately.
India believes thatdbs prablefms of hunger and food
security are almost) oven hecause of the significant
increase in productivity achieved through the use of
new tectnobooi egof the Green Fevdution. Foodgrains
per capitaliincreased fom 395 grmins in 195 Ito 464
grams 1t 1993, There are reports about surplus stocks
used fob exports, also reports about surplus stocks
rotting@because there are not enough storing facilities.
And wet 1 such a situation, we tave millions who go
tnngry and who die a slent death of starwation and
tralmuttition. In 1974 the FAD organized the first
Wotdd Food Conference, where its metmbers took a
pledae to end hunger by 1984 Herav Kissinger, than
U5 Gecretatry of State wowed at the meeting that
“withinn a decade, no tran, worran or child will go to
bed bungry.™ A quarter of a century later mare people
are dying of hunger.
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FAO organised its second World Food security
Conference in 1985 which reaffirmed its moral
cotrrnitrnent “to achieve the objective of ensuring that
all people at all tirmes are in a position to produce the
tasic food they need™ In 1996, vet again, FAQ
orgarised itz third global conference on food security
with tch fanfare The result of thiz third sutnenit
tneeting was another declaration, called the Fome
Dedarmtion, affirming onee again the right of everyone
to be free ofhunger. The sutntrit also offered an action
plan to reduce the munbers of hungry people tephalf
within two decades — a more modest @attnitiment
than mma de by Kissinger a quatter ofa cehiury aga.
In spite of the three global conferences, the future of
food security looks as bleak as evér. Fidel Castro, who
was also as attending the third FAD surmenit meeting,
pointed out “Hunger is the ofF-springaf mjustice, and
the unequal distritition of the wealth of his warld.
social  and  economic  suipl@s  have  actually
marginzalised thegfioor and deprived them of the
means to eat”.
The NGOz andypedple’ sirepresentatives who had also
gathered for this summt meeting said in their final
declaration, “Ensiring food security demands an
appraach to agriculture policy that is in almost every
respectdhe reéverse of that adopted by the Swrmmnit’s”
delegates ™ They suggested that instead of pursuing
policies that encourage corpomate agriculture, there
ghould be polices in labowred organic production,
reducing or eliminating the use of pesticides and other
agro-chernicals,
And instead of hooldng farmers” into a dobal
economyy  over which they have no control, they
uzgested that resources be shifted in favour of local
farming and regional food producers and food systems.

141, According to the World Bank, how many
people fceproblems of food scarcity?
a. 2 mllion
b, 100 rrullion
c. 500 mullion
d. 1000 million
142, What had led India to believe that it does not
ficeany food crisis?
a.  Thepresence. of surplus tocks of exports
b, Eeport about surplus stocks rotting
c. The apparent success of the Green
Fevolution
d. Both @) and ()
143 7 did the third FAD surrenit moderate the
pledze made by Kizsinger in the first surmntnit?
a. Because Kisasinget's promise was too
atnbitions.
b, Because in reality, it iz newer possible
elitnirate hunger and poverty from the
wiorld
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147,

143,

149,

150,

c. Because Kissinger's prorise had started
to look vnattainable as more and more
people were dying out of hunger.

d Because FAO s resources to elirinate
poverty were limmited.

What iz the major point in the NGO07s stand

after the third FA Q) surrrmit?

a. The agricultwe policy adopted by the
surntrit’ s delegate will newer lead to food
secunty.

b, Farmers should be provided security first
toachiewe food security for the world.

c. Local farming should be encouraged more

d Clange pattern of agriculture from
corpotate agricultwre to  policies  that
favour the fatmer.

All the following are instances of conumercial

agriculture EXCERT

a. usage ofpesticides

b, usage of agrochemicals

C. inorganic production

d. regional food producers and food systems

What iz the basic paradox of India’s food

gystern’

a. That iz spite of being a Third World
country, it tas enough food surplus

b, That in spite of food surplus, seversl
people die annually

c. That spite of large-scale food production,
the farmers are all poor

d Bothland3

What, according to the authar, 15 the™basic

cause of hunger?

a. faulty agricultural policy

b, lack of purchasing power

c.  faulty governmental policies

d. inequality and powerlgssness

The author says all the follos#ing EXCEPT

a. Per capita availatility ofeféod grains has
decreazed fromn 1951 £, 1993 in India,

b, FAQ s profodessin its surnrrits  have
sty dane unfulflled

c.  Fidel Castroiga cormrrmi st leader.

d. Hunger “and malnutrition constitute a
seriols itfpending crisis to the world.

The author defintely says wiich of the

folloasing in the contest of the passage?

a  Hunger iz caused, at least in part, due to
inplernertation of borrowed  scentific
ideas.

b, Seweral Third World comntries are in the
process of elirminating hunger.

c. Green Fevolulion was based on bortowed
technology.

d. Az of now there seetns to he a new
direction to acquire food security.

How does the author corrohorate the third

sentence of the passage?

SHed 53
a. By pointing to inadequacies of the policies
of the governtnent.
b, By pointing to the filed prommises of FAD.
By pointing to the words of Fidel Castro.
By pointing to the tesclubion adopted by
the NGOs.

SECTION-4

Directions: (. 151 to 155 are based on the graph
given helow:

solubility - Temperature relationships fordratious salts.
(The ¥-axiz denotes Solubility (log/litresiof watet)
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151, ° Which of the following salts has greatest
solubiity?
a. Potassivm Chlorate at 50°C.
b, Potassivm Chlorideat 35°C,
c. Potassium Mitrate at 39°C.
d. Bodivn Chlondeat 85°C.

152, Approzimately, how many kg of Potassium
Mitrate can be dissolwvedin 10 litres of water at

30°CY

a. 0.04
b, 0.4
c. 4

d. 0.35

153, By what %o 1z the solubility of Potassium
Chlorate in water increased as the water is
heated from 30°C to E0°CY

a. 100
b, 200
c. 250
d. 270

154, If | mole of Potassium Chloride weighs
0.7456 kg, approzimately, how many moles of
Potassium Chloride can be dissolved in 100
litres of water at 36°C7

a. 700
b, 650
c. 480
d. 540

135 Which of the saltz has greatest change in
solubility in kglitre of water between 15°C
and 25°C7




Potazzinm Chlorate
Potazsinm Mitrate
sodium Chlotate
Sodium Mitrate

a0 oW

Directions for guestions 156 to 159: Situdy the
information below and answer guestions hbased on
it.

A leading socialite decided to organise a dinter and
itwited a few of her friends. Only the host and the
hostess were sitting at the opposite ends of a
rectanmilar table, with three persons along each side
The pre-requidite for the seating arrangerment was that
gach person tmust be seated such that atleast on e
gide it has a person of the opposte sex Waghod is
opposite Shobha, who 12 not the hostess. Fatan hasz a
worran on his right and is stting opposite a woman.
Mlonisha is sitting to the hostess’s right, next to
Dhirubhai. One person is seated between MWadbun and
littnila, who iz not the hostess. The men were
Mlaghool, Fatan, Dhirubhai and Jackie, while the
wiotnen were Ifa dhort, Urmila, Shobha and Iondsha.

136, The eighth person present, Jackie, must be;

[ thehost

II. zeatedto Shobha’sright

III. zeated opposite Unmila

a. lonly

b IIT only

c. land Il only

d. 1l and [T only

157, Which of the fillowing persons iz definitely
not seated next to a person of the same se3df

a. Dlaghoal

b, Dladhur

c. Jackie

d. Zhobha

155, If Ratan would have exchafiged) seats with a
person four placesgto his lefy™which of the
following would base been true afler the
ezchange?

[ Mo onedsms seatedWetwesn two persons of
the oppositetess. (e g no man was seated
befween Bwo wotnen)

[I_alnesidevof the table consisted entrely.of
persong of the satne sex

I Either the host or the hostess clanged

2Eats.

Lonly

II only

land I anly
d. 1land [T orly

159, If each person is placed directly opposite his
ot her spouse, which of the following pairs
trnast be tratried?

a. FRatanand Meondsta

b Dladhu and Dhinabhat

c. Urmnila and Jackie

d. Fatanand hadinri

oo

Tiaed I3

Direc tions: (). 160 to 163 are hased on the following

table and information given helmar:

L. In 1984-85 walue of exports of ranufactured
articles exceeds the walue of exports of @mw
traterials by 100%.

2 In 198556 the ratio off% of expotts of mw
traterial to that of exports of manufactured
atticlesis 3 4.

3. Ezxports of lod in 1985-86 excesds the 1984-
85 igure byRs. 1006 crore.

Percentaoe of total walue of eports in India

Tterm 1984-85 IS -5 6
Food 43%
Ianufactured Articles

Fawlatenal

Total walue of Export (in | 22400 25800
crore) nf Bs.

160, In 1984-850what pepgentage of total walues of
exports atooufits for items related to food?
a 3%
b (20284
c o G2%
do i
151." (Dneing 1954-85, how nch more raw matetial
thati food was exported?
a. Fs i3580 crore
b, Es= 906 crore
c. Fs 1936 crore
d. Fs 1852 crore
162, Value of exports of raw material during 84-85
was how much percent less than that for 85-
aar
a 39
b 415
c. 7
d 316
163,  The change in walue of exports of
manufactured articles from 1984-85 to 1985-
afis
a. 2% crore
b, 629 crore
c. 2064 crore
d. 1792 crore

Directions for guestions 164 to 166: Study the
information below and answer questions hased on
it.

Five of India’s leading models are posing for a
photograph promoting “World  peace and
understanding”. Bt then, Fakesh Shreshtha, the
photographer, iz hawving a tough time geting them to
stand in a straight line, because Adshwarya refuses to
gtand next to Sushnilta because Sushmita had said
sornething about her in a leading gossip ragazine,
Fachel and Anu want to stand together because they
are “such good friends, you know™ MManpreet, on the
other tand, cannot get along well with Fachel, because




there 15 some talk about Rachel scheming to get a
contract already awarded to Mlanpreet Anu believes
her friendly astrologer who has asked her to stand at
the extreme nght for all group photographs. Finally,
Falkesh managed to pacify the gitls and got a2 beautifid
picture of five heautifill girls striling beautifully in a
beauti ful straight line, promoting wotrld peace.

164, If Aishwarya is standing to the extreme left,
which gifl is it the trd ddle?
a. Manpreet
b, Bushmita
c. Rachel
d. Cantot sy
165, If Aishwatya stands to the extremme 1eft, which
1sthe girl who stands second from 1eft?
a. Cannot say
b, Bushmita
c. Rachel
d. Nlanpreet
l6a.  If Anu's astrologer tells her to stand second
from left and Aishwarya decides to stand
second  from rght, then who is the gid
standing on the extreme righty
a. Fachel
b, Sushmita
c. Nlanpreet
d. Cannot =y
Directions: For questions 167 to 170 refer o the
pie-chart given helow:

167, What fraction of Ghoshhatu’ s weight consists

of rrmscular and slan proteins?
AhER Ury
raaglai
15%
Fregtein
15%
Water
70%
Sxia
B%:
o
185
CRhars
Ve
kiusCiz
25%
a. 1413
b, 1430
c. 1440
d. Cannot be detertmined

165, Ratio of distnbution of protein in muscle to
the distribution of protein in sknis
a. 3l

o~

T g

o3l

169, What percent of Ghoshbabu’s body weight is
trade up of slan?
a 015
b 10
c. 12
d. Carmot be detertrined

170, In terns of total body weight, the pottion of
tratenial other thah water and proteinfs cosest
to
a. 3720
b /15
c. 35/100
d. 1720

Directions for questions 171 to 174: Siudy the
imformation belw and answeépthe guestions hased
on it.

& B, C.DE, Fand & are hrothers. Two brothers had
an argumert angd A Said Wb “Youare az old az C was
when [ wad twice as old as D, and will e azs old as E
was when hevwas/as old az C is now'™. B ozaid to A™
Tou gnay be older than F but G iz az old as [ was when
you were as old as G is, and D wall be az old az F was
wwten Fowall be as oldas 04187,

17 Whois the eldest brother?
a A
b E
c C
d. Carnot be determined
172, Whois the youngest brother?
a b
b D
c. F
d. Carmot be deterrmined
173, Which two are probably twins?
a DandG
b, EandC
c AandbB
d. Carmnot be determined
174, Which of the following iz false?
& has 4 older bothers,
& iz older than G bt younger than E.
B has three older bothers.
thereis a pair of twins among the brothers.

oo

Directions: ). 175 to 178 are based on the following
mformation:

The following table gives the sales detadls for test
hookes and reference bools at Primary fSecondary!

Higher Secondaty/Graduate L ewel s,

Year | Pritmary | Secondary | Higher Graduate
secondary | Lewvel

1975 ] 42137 5820 5303 25343




1976 | 53568 10285 7160 27930
1977 ) 58770 16437 73667 28687
1975 | 585871 15475 71668 30057
1979 | 68213 17500 Faady 33682
1980 | 68718 20177 82175 36697

175 What iz the growth rate of sales of books at
pritmaty school lesel fom 1975 to 19507
a. 20%
b 51%
£ B3%
d. 163%
176, Which of the categories shows the lowest
growth rate from 1975 to 19807
a. Pritary

b, Secondary
c. Higher secondary

d. Graduate Level
177 Which category had the highest growth mate in
the period?
a. Primery
b, Secondary

c. Higher Secondary
d. GraduateLevel

178, Which of the categories had either a consstert
growth or a consistent decline in the period
showm?

a. Primary

b, Secondary

c. Higher Secondary
d. GraduateLevel

Directions (). 172 io 182 are hased on the gyaph
oiven heloy :

e 53R

Iare

Less

Almost equal

.34

181, The total munber of Engineering students in
1991-92, assuming a 10% reduction in the
tnxnber over the previous yveat, 18
a. 5700
b, 57000
c. 44500
d. MNone ofthese

182, In 1990-81, what percent of gJEfiginectihg
students were studying at I[1Ts

16

15

14

12

RO op

oo

Directions: (). 183 to 185: ‘aterbased on the table
and information givénbelow .

Banlatal worlcs 32 houfs aday and rests v hours a day.
Thizs patterneentiaues for [ weelk, with an emmctly
opposte pattem nest weelks, and 20 on for four weels.
Every fifth Week he has a different pattem. When he
wirled Tonger that he rests, his wage per hour iz twice
ofywhattie gaifis per hour when he rests longer than he
worls.

The, following are his daily worling hours for the
weeks mumbered 1 to 13

1" week 5™ yreel 0™ wreelk | 13™ week
Fest 2 3 4 -
Wk | 5 7 fi 8

B8 Privata Engy College [0 Gout. Engd. College
O Regional Engg College DT

18588\ 1589-90  1000.01
Mummbetgo N Engineering  Students (in hundreds) at
inatitutions of different lkinds

179 What was the total number of engineering
studentzin 1989-907
a. 28500
b 4400
c. 4200
d. 42000

180, The growth rate in  stadents of Gowt
Engineering colleges cotpared to that of
Private Engineering colleges between 1955-50
and 1889-90 1z

A& el consists of &x days and a month consists of 4
weeks,

183, If Banlgatlal iz paid Bs 20 per worddng hourin
the first weel, what is hiz salary for the first
mmonth?

a. 1440
b, 2040
c. 1320
d. 1480

184, Barkatlal’s average monthly salary at the end
ofthe first fowr months wall be:
a. 174l
b, 2040
c. 1830
d. 1630

185, The new manager Kushaldas stipidated that

Es 5 be deducted for every hour of rest and
Es 25 be paid per hour starting the weels, then
what will be the change in Banbkatlal’s salary
for the 37 month? (Houdy deduoctions and
salaties are constatt for all weels starting 9th
weell).
a. 540
b, 4&0
c. 240
d 0
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